
Termumformung, Termbearbeitung
term1:=(x-5)^3*(x-2);   "wird nicht ausgerechnet":(x - 2) × (x - 5)3
expand(term1)
x4 - 17 × x3 + 105 × x2 - 275 × x + 250

diff(term1, x);         "ableiten":(x - 5)3 + 3 × (x - 2) × (x - 5)2
normal(%)
4 × x3 - 51 × x2 + 210 × x - 275

term2:=x->(x-3)^2/(x+5)

x ®
(x - 3)2
x + 5

ÅÅÅÅÅÅ
normal(term2(x))
x2 - 6 × x + 9
x + 5

ÅÅÅÅÅÅÅÅÅ
diff(%, x);expand(%);simplify(%);normal(%)
2 × x - 6
x + 5

ÅÅÅÅÅÅ - x2 - 6 × x + 9(x + 5)2ÅÅÅÅÅÅÅÅÅ
2 × x
x + 5
ÅÅÅÅ - x2

x2 + 10 × x + 25
ÅÅÅÅÅÅÅÅÅÅÅ - 6

x + 5
ÅÅÅÅ + 6 × x

x2 + 10 × x + 25
ÅÅÅÅÅÅÅÅÅÅÅ - 9

x2 + 10 × x + 25
ÅÅÅÅÅÅÅÅÅÅÅ

x2 + 10 × x - 39(x + 5)2ÅÅÅÅÅÅÅÅÅÅÅ
x2 + 10 × x - 39
x2 + 10 × x + 25
ÅÅÅÅÅÅÅÅÅÅÅ
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